
82

ITEM NO. PART NO. DESCRIPTION

1 RCS-1250 ASSY BILLBOARD
2 MGL1-1150 ASSY MASK
3 RCS-1201 MASK HOLDER
4 RCS-1230 PROJ. DSPL T 50 TYPE 24K
5 200-5607 FRESNEL LENS 50"
6 200-5608 LENTICULAR LENS 50"
7 200-5601 MONITOR GLASS 50"

201 000-P00516-WB M SCR PH W/FS BLK M5X16
202 000-P00520-W M SCR PH W/FS M5X20
203 000-T00525-0C M SCR TH CRM M5X25
204 068-552016-0C FLT WSHR CRM 5.5-20X1.6
205 000-F00414 M SCR FH M4X14

ASSY PTV (RCS-1200)


